<C2> INTEGRATION

Answers - Worksheet D
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areaz%x2x[2+\/%+2(\/§+m)]
=22.9 (3sf)

X

x*+4

over-estimate

curve passes below top of each trapezium

4x%—x% =0
X (4-x)=0

=0 [= x=0,at 0] or x=4

at B

4x—-—y+11=0 = y=4x+11
intersect when 2x°+ 6x+7 =4x + 11

X +x-2=0
(x+2)(x-1)=0
x=-2,1

- (=2,3) and (1, 15)
area below curve

=jj2 X+ 6x+7) dv

=[2x°+3x° +7x] L,

=(2+3+7) (-8 +12-14)=18
area below line

=1 x3x(3+15)=27

area between line and curve
=27-18=9
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minimum when sinx =1

wx=1Z

2
(2, 1)
X 0 % %
Hslm 1 06667  0.5359
L area = 1 x X x[1+0.5359 +2(0.6667)] = 0.751 (3sf)

=14+ 12(X )+ 1241 (X 2 4 1241x10 ¢ X 3_,_”'
(T3 ()5 (G)

= 6 33,24 11,3

L+ 2x+ 5x+ 5x + ...

~ 1(1+§ +£2+£3)dx
=)o sXT 5 T X

_ 3,24 1,34 11 4l
[x+ 537+ 5507+ 56510

_ 3 11 1y_0=11
_(1+5+50+2oo) 0 18

at4, x=0 = (0,2)

Y- 2x

dx

gradat 4 =—1

Sy=2-x

curve cuts x-axis when y =0
2-x-x*=0
2+x)(1-x)=0
x=-2,1

area below curve
=J; 2-x—x") dx
=[2x - %xz— %x3]})
-t -4)-0-1

tangent cuts x-axis when y =0
x=2

area below line
=1 x2x2=2

shaded area
—9_1
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